BHEARAABERIENSH
B A F B

99 F 1 |1 [I~99 = 3 E| 31 [

"1,650 " e FEF T I 7 L%
SR e IR St g

"1,500 " B[ e ik Pt 77
(T (R0 % e M ey e 2
" 1,050 " e i g T R e

HRI-5 300 Pt ey ffP e
900 ZETE = e (At B
Rz e IR kvl ] 1 |
A =IST 150 [ 3 B3 b
HiEES EE BT A N
750 AP0 = el EAT
e L REHES A iy = ek,
R LIS ERE NS SV AR AR

W B SEi F0 i
S L SAIRE Eobiy PAESH =
IRpE SRTE JRARE FR LT
5 H TR B e ZAGER eS|
SV STV EL B FAE & I

450 el AP =5, F R
e e =T i e
AR 2 = T et B
g 52 91 Fiess LY e R

Heot 4 AT i FEE 16 = e
| et 77 S parg
B, e 2 3 ik 215
W% 1| R il Fis F

It 7 W RS EE N H
B i By pif g Fiur
e Rl £ 4 iy Wk Yo
P s B el IEIEN
PR e T F VBT RS T



BIA
Rl
R [
R
?VIZ?J

i ﬁ Ik

LR
A Al
i
I
JHFFE
IH = A
i)
AR
PR
s
EES
"It 3
Sl
= P
SRR
AR

RS
* e
FRT ; I
éf'lffﬂﬁ
e

e

Bt
7J~<;§ E}
2
F:}%EIEI’
PN
LAL U
IR Eh
it

= ﬁ‘J ;;}{
7%

HIES

M £
MBS
IR
PG
s
JARGIE
(A
PR

ffﬁ%‘?ﬁi
=2 [g
Gl
gz

g Ay 1
e

P

BOM h
[T

Bl
o=
g

(7 W aF]
FAf 14!
(e #% J 3

P I
P %

PR

oY
[ELEEs
B
FIAFE
B

—j\j} e

54,600



